p I gdten weidt
\l National Testing Agency

Test Date : 11 mar 2023 Test Slot : siot 2

Subject : 87-Computer Science and Applications

Paper 1 : 201-General Paper

Sl. No.1
QBID:29201001

The following table shows the monthly income and various expenditures, of six friends A-F in absolute value
or in percentage (in terms of monthly income) form. Some values (marked as '-') are missing in the table which
you are expected to calculate if required. Based on the data in the table, answer the question:

Income and Expenditure Details

Friend Monthly Income Expenditure (in ) on
Sa.la%\' (in Incen‘;)ve Co Travel| Food |Accommodation|Shopping)

A 22000 - - [10960 10% 15%
B - 14400 15280(17000 12400 -

C - 12600 12% || 8% - 12%
D 88000 - - [15120 9% 16800
E 80000 - 3% - 8400 11240
F - 11400 8400 [ 8% - 13720

(a) Monthly Income = Salary + Incentive.
(b) Incentive amounts to 15% of salary.
(c) All six friends save 40% of their monthly income.

(d) There is no expenditure other than those given in the table.
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What is the total amouint (in ) spent by all the six friends together on Travelling?

. 85634
. 85643
3. 84634
4. 84436
(1) 1
) 2
(3) 3
(4) 4
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(2) 2

(3) 3

4) 4

1[Option ID=39701] Question Description : general_paper_genarel paper_set 29_english_q1
2[Option ID=39702]

3[Option ID=39703]
4[Option ID=39704]

Sl. No.2
QBID:29201002

The following table shows the monthly income and various expenditures, of six friends A-F in absolute value
or in percentage (in terms of monthly income) form. Some values (marked as '-') are missing in the table which
you are expected to calculate if required. Based on the data in the table, answer the question:

Income and Expenditure Details

Friend Monthly Income Expenditure (in I) on
Sala%\' o= Incen‘;)ve = Travel| Food |Accommodation|Shopping,

A 92000 - - 10960 10% 15%
B - 14400 13280(17000 12400 -

(&4 - 12600 12% | 8% - 12%
D 88000 - - 15120 9% 16800
E 80000 - 5% - 8400 11240
F - 11400 8400 || 8% - 13720

(a) Monthly Income = Salary + Incentive.
(b) Incentive amounts to 15% of salary.
(c) All six friends save 40% of their monthly income.

(d) There is no expenditure other than those given in the table.
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What is the difference in the amount spent by B on Food and Shopping together and that of C on
accommodation?

T11412
T 11,532
g 11,512
F11,332
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1 1
2) 2
3) 3
(4) 4
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1[Option ID=39705] Question Description : general_paper_genarel paper_set 29_english_q2
2[Option ID=39706]
3[Option ID=39707]
4[Option ID=39708]

Sl. No.3
QBID:29201003 . . . o .
The following table shows the monthly income and various expenditures, of six friends A-F in absolute value

or in percentage (in terms of monthly income) form. Some values (marked as '-') are missing in the table which
you are expected to calculate if required. Based on the data in the table, answer the question:
Income and Expenditure Details

Friend Monthly Income Expenditure {in ) on
Sala%\' = Incen‘;)\'e = Travel| Food |Accommodation|Shopping)

A 92000 - - 10960 10% 15%
B - 14400 15280(17000 12400 -

C - 12600 12% | 8% - 12%
D 88000 - - 15120 9% 16800
E 80000 - 3% - 8400 11240
F - 11400 8400 || 8% - 13720

(a) Monthly Income = Salary + Incentive.
(b) Incentive amounts to 15% of salary.
(c) All six friends save 40% of their monthly income.

(d) There is no expenditure other than those given in the table.
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A [ 92000 = — 10960 | 10% || 15%
B g 14400 15280 || 17000 | 12400 =

C ] 12600 12% | % : 12%
D | 88000 = ~ 15120 9% | 16800
E | 80000 y 5% - §400 || 11240
F - 11400 8400 | 8% ; 13720
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What is the amount saved (in ) by all the six friends together?

. 223760
. 237360
. 237630
. 273360
1) 1
(2) 2
3) 3
4) 4
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. 273360
1) 1
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(4) 4

ba =

EE

1[Option ID=39709] Question Description : general_paper_genarel paper_set 29_english_q3
2[Option ID=39710]
3[Option ID=39711]
4[Option ID=39712]

Sl. No.4
QBID:29201004

The following table shows the monthly income and various expenditures, of six friends A-F in absolute value
or in percentage (in terms of monthly income) form. Some values (marked as '-') are missing in the table which
you are expected to calculate if required. Based on the data in the table, answer the question:

Income and Expenditure Details

Friend Monthly Income Expenditure {in ) on
Sala%\' e | o en‘%\'e {m Travel| Food |Accommodation|Shopping)

A 22000 ] - [10960 10% 15%
B = 14400 15280(17000 12400 =

84 - 12600 12% || 8% s 12%
D 88000 - - [15120 9% 16800
E 80000 - 5% - 8400 11240
E - 11400 8400 [ 8% - 13720

(a) Monthly Income = Salary + Incentive.
(b) Incentive amounts to 15% of salary.
(c) All six friends save 40% of their monthly income.

(d) There is no expenditure other than those given in the table.
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A [ 92000 = ~ 10960 | 10% || 15%
B g 14400 15280 || 17000 | 12400 =

C . 12600 12% | % - 12%
D | 88000 = ~ 15120 9% | 16800
E | 80000 y 5% - §400 || 11240
F ; 11400 8400 | 8% ; 13720
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The annual income of D is less than that of A.

1. 4600
2.52200
. 55200
. 4900
(1) 1
) 2
(3) 3
4) 4
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. 4900
1) 1
2) 2
3) 3
(4) 4

1[Option ID=39713]

. 52200
. 55200

2[Option ID=39714]
3[Option ID=39715]
4[Option ID=39716]

Question Description : general_paper_genarel paper_set 29_english_q4

Sl. No.5

QBID:29201005
The following table shows the monthly income and various expenditures, of six friends A-F in absolute value
or in percentage (in terms of monthly income) form. Some values (marked as '-') are missing in the table which
you are expected to calculate if required. Based on the data in the table, answer the question:

Income and Expenditure Details

Friend Monthly Income Expenditure {in ) on
Sala%\' s en‘%\'e = Travel| Food |Accommodation|Shopping)
A 92000 - - 10960 10% 15%
B - 14400 15280(17000 12400
(& - 12600 12% | 8% - 12%
D 88000 - 15120 9% 16800
E 80000 - 3% - 8400 11240
F - 11400 8400 || 8% - 13720
Note

(a) Monthly Income = Salary + Incentive.

(b) Incentive amounts to 15% of salary.

(c) All six friends save 40% of their monthly income.

(d) There is no expenditure other than those given in the table.
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Expenditure by A on Travelling constitutes approximately

ol

1) 1
2) 2
(3) 3
4) 4

% of the salary of F.
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=39717] Question Description : general_paper_genarel paper_set 29_english_q5
2[Option ID=39718]

3[Option ID=39719]
4[Option ID=39720]

Sl. No.6
QBID:29201006

Which tool is used to create online bulletin board where you can display information in the form of pictures,
texts, videos ete.?

1. Quizzizz
2. Padlet
3. Screen Castify
4, Windows
(1) 1
2) 2
(3) 3
4) 4
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1[Option ID=39721] Question Description : general_paper_genarel paper_set 29_english_q6
2[Option ID=39722]
3[Option ID=39723]
4[Option ID=39724]

Sl. No.7
QBID:29201007

Which of the following are the advantages of lecture-cum-demonstration method?

A. Clear and Permanent Knowledge
B. Helping the task of the teacher
C. Helpful in mental development
D. Economical method

Choose the most appropriate answer from the options given below:

.Band D only
A, Cand D only
LA B, CandD
.Band C only
11

(2) 2

(3) 3

(4) 4
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1[Option ID=39725] Question Description : general_paper_genarel paper_set 29_english_q7
2[Option ID=39726]
3[Option ID=39727]
4[Option ID=39728]

Sl. No.8
QBID:29201008

Which of the following are examples of Asychronous communication?

A. Blog

B. Podeast

C. Electronic Mail
D. Discussion Forum
E. Phone calls

Choose the most appropriate answer from the options given below:

. B and E only
.C.D and E only

. A, Cand D only

. A, B, Cand D only
1) 1

(2) 2

(3) 3

(4) 4
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(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=39729] Question Description : general_paper_genarel paper_set 29_english_q8

2[Option ID=39730]
3[Option ID=39731]
4[Option ID=39732]

Sl. No.9
QBID:29201009




Which of the following are the causes of plateau associated with learning curve?

A. Lack of balance among various phases of a complex skill

B. Shifting of attention from one phase of performance to another
C. Fatigue and boredom

D. Positive interest and incentive.

Choose the most appropriate answer from the options given below:

. A, B and C only
Aand D only
.B,CandD

A, B, Cand D only
1) 1

2) 2

3) 3

(4) 4
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1[Option ID=39733] Question Description : general_paper_genarel paper_set 29_english_q9
2[Option ID=39734]
3[Option ID=39735]
4[Option ID=39736]

Sl. No.10
QBID:29201010

Which of the following is the best method of teaching?

. To impart knowledge to students

. To ask students to self-learn from books.

. To start a discussion and encourage students to participate in it.
. To ask students to go to the library.

B

1) 1
2) 2
3) 3
(4) 4
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4. f[geniigl o qxeem §H & [y e
1)1
(2) 2
(3) 3
(4) 4
1[Option ID=39737] Question Description : general_paper_genarel paper_set 29_english_q10
2[Option ID=39738]

3[Option ID=39739]
4[Option ID=39740]

Sl. No.11
QBID:29201011




A prediction of relationships involving theoretical constructs is known as:

1. Operational hypothesis
2. General hypothesis
3. Non-directional hypothesis
4. Conceptual hypothesis
(1) 1
(2) 2
(3) 3
(4) 4

gaﬁam URBAISH (Pgac) B WA B3 ardd JaHi & U YalgaH &1 64 =9 T S SH1 Sl

1. JETa 1 UTadh o1
2. AR AIah e
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1
2) 2
3) 3
(4) 4

1[Option ID=39741] Question Description : general_paper_genarel paper_set 29_english_q11
2[Option ID=39742]
3[Option ID=39743]
4[Option ID=39744]

Sl. No.12
QBID:29201012

The post-test only control group design avoids:

. Non Cooperative participants
. Sensitization of participants

. Group Comparison

. Experimental treatment

B

1) 1
(2) 2
3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=39745] Question Description : general_paper_genarel paper_set 29_english_q12
2[Option ID=39746]
3[Option ID=39747]
4[Option ID=39748]

Sl. No.13
QBID:29201013

Questions constructed in such a manner that suggest an expected answer are identified as:

. Main questions
. Meta questions
. Lead questions
. Suggestive questions

B

1) 1
(2) 2
(3) 3
(4) 4
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2. Ty

3. VIS HTTE
4. Fihl® 94




(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=39749] Question Description : general_paper_genarel paper_set 29_english_q13
2[Option ID=39750]

3[Option ID=39751]
4[Option ID=39752]

Sl. No.14
QBID:29201014

Which of the following are ethical principles in research ?

A. Respect for participants
B. Informed consent

C. Tustice for participants
D. Voluntary deception

E. Coercive consent

Choose the correct answer from the options given below:

(4) 4

My A FafarEa 8 o 3 e faids 2

A. AidHTRE] & U SR
B. IYd FeHid

. wfoanfi & fore =umg
D. Wies®s gd

E. 3[@4Is® Jedld

1 feu T fadedl § T Uel 3wk &1 949 Bifold -

1.Pad A, B, C
2.%adB,C,D
3

1[Option ID=39753] Question Description : general_paper_genarel paper_set 29_english_q14
2[Option ID=39754]
3[Option ID=39755]
4[Option ID=39756]

Sl. No.15
QBID:29201015

Given below are two statements :

Statement I : In case are research study leads to generation of more research ., then we will say it contain heuristic value.
Statement IT : The discussion section does not allow freedom and flexibility in writing to the researcher.

In the light of the above statement, choose the correct answer from the option given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3
(4) 4
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(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=39757] Question Description : general_paper_genarel paper_set 29_english_q15
2[Option ID=39758]
3[Option ID=39759]
4[Option ID=39760]

Sl. No.16
QBID:29201016

An individual's culture is affected due to

1. Public order
2. Public space
3. Private interests
4, Effective interaction
1) 1
(2) 2
(3) 3
4) 4

FafafEd o 9 o SR Y Us ofed B @8l guIiad gidi § 2

1. graoi-a ogaeT
2. grawE RIF
3. ofaTd fed
4. 9YTdt iafdan
(1)1
) 2
(3) 3
(4) 4

1[Option ID=39761] Question Description : general_paper_genarel paper_set 29_english_q16
2[Option ID=39762]
3[Option ID=39763]
4[Option ID=39764]

Sl. No.17
QBID:29201017

According to the behavioural model, the communication approach is congidered as:

1. Contrived
2. Natural
3. Reward-punishment based
4. Innate
1) 1
(2) 2
3) 3
4) 4
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1[Option ID=39765] Question Description : general_paper_genarel paper_set 29_english_q17
2[Option ID=39766]
3[Option ID=39767]
4[Option ID=39768]

Sl. No.18
QBID:29201018

Which of the following are the characteristics of moderate approach to inter-cultural communication ?

A. Inter-cultural communication is unidisciplinary.

B. A communicator is a change agent.

C. A continuum is the representative of social change.

D. Change is a response to both inside and outside stimuli.
E. Culture and communication have limited linkages.

Choose the correct answer from the options given below :

.A.B, Conly

4) 4
SR-Tiwp i T & Jia Had S &t Fafafed @ 9 oF o fagand § 2
A, SR-UIGIe FYU U fawdi g |
B. U 9HIYs% 0% URad--Afasdi garg |
C. U9 9IS (Pi<-gH) FHlee gRacd ST Hia-ee ¢ |

D. URad ST & 3R 3R STeR il P i U ST e |
E. TEpfar 3R gy ot Siftrg Geewant (oo et € |

1 fGu T fad el © 9 gl 3R &1 90 Difol :
1.Pad A, B, C

1[Option ID=39769] Question Description : general_paper_genarel paper_set 29_english_q18
2[Option ID=39770]
3[Option ID=39771]
4[Option ID=39772]

Sl. No.19
QBID:29201019

Given below are two statements:

Statement I: In mass communication, the news content includes social values also.

Statement II : News also contains ideology that changes according to times.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1 1
(2) 2
3) 3
(4) 4
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(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=39773] Question Description : general_paper_genarel paper_set 29_english_q19
2[Option ID=39774]
3[Option ID=39775]
4[Option ID=39776]

Sl. No.20
QBID:29201020

Given below are two statements:

Statement I: Bharatha Muni prescribed popular dialects for communication among the elites.

Statement II : Bharatha Muni also prescribed classical languages for common people for effective communication.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
(1) 1
2) 2
3) 3
4) 4
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HYFIAR I SH TR |
CHYT AR A A |
L PYTI R E, AP SYT T § |
.Y 1 77eTd €, Afch U 11 TR B |

1 1
2 2
3) 3
(4) 4

R

1[Option ID=39777] Question Description : general_paper_genarel paper_set 29_english_q20
2[Option ID=39778]
3[Option ID=39779]
4[Option ID=39780]

Sl. No.21
QBID:29201021

What number would replace question mark (?) in the series given below?
1,4, 11, 26, 57, 120, 247, 2

424
367
255

502

B

e L

1) 1
(2) 2
3) 3




(4) 4
frafafad @ & wsams fog (2) & $F I T ufoifid s 2

1,4, 11, 26, 57, 120, 247. 2

424
367
255

502

b e

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=39781] Question Description : general_paper_genarel paper_set 29_english_q21
2[Option ID=39782]

3[Option ID=39783]
4[Option ID=39784]

Sl. No.22
QBID:29201022

A man walks 40 meters towards south. Then turning to his right he walks 40 meters again. Then he turns to his
left and walks 20 meters. He again turns to his left and walks 40 meters. How far is the man now from his
starting point?

1. 60 meters
2. 40 meters
3. 100 meters
4. 80 meters

(1) 1

(2) 2

(3) 3

4) 4

TS e G401 &1 3R 40 Hiex Taai & | 5= a8 3 arfet 3R gga I7: 40 M 9aar § | R a8
3T TTE TSR 20 Hiex TEa1 T | 98 T7: 307 a1 S0 40 HIex Iadl & | 3@ 98 aafad ofg SRfys
figo ot giwme?

.60 Hiex
.40 HieR
. 100 HieR
.80 Hiex
11
(2) 2
(3) 3
(4) 4

e L b

1[Option ID=39785] Question Description : general_paper_genarel paper_set 29_english_q22
2[Option ID=39786]
3[Option ID=39787]
4[Option ID=39788]

Sl. No.23
QBID:29201023

A person spends 20% of his money for clothes. 10% of the money is spent on books, 9% for purchasing gifts
for family and friends and 7% on some other items. At the end he is left with ¥ 5,400. How much money was
there with the person initially?

. % 8.000
.% 9,000
.% 12,000
.% 10,000
(11
(2) 2
3) 3
(4) 4

ko o—

e




U i SO eFRIIRT &1 20% HITT ¥l TR 90 el 8 | 10% o J&Ieh| U o0 Bl § 3R 9% URAR
g i & fo SUBR $9 T IR 009 Txal § SR 7% S 0 Hal UR| 3 § 3% IR T 5400 Y9 & |
3 Afdd & U HRY H fda-t g==iy odf 2

1. % 8000

2.%9000

3.% 12000

4. % 10000

1) 1

2) 2

3) 3

(4) 4

1[Option ID=39789] Question Description : general_paper_genarel paper_set 29_english_q23
2[Option ID=39790]

3[Option ID=39791]
4[Option ID=39792]

Sl. No.24
QBID:29201024

If the length and breadth of a rectangular plot are increased by 25% and 40% respectively, then the new area of
the plot shall be how many times the original area ?

7
4 5
8 7
= /4
)
3
1 9
4%
11
(2) 2
3) 3
4) 4

4% U ISR HEUS B! dalg 3R AISTE 5 HH: 25% T 40% B gfG B 91l &, a1 39 JEUS BT
1 AP Ha (SR &% 9 fha- A7 g ghm 2

7
1. 5
5 7
= /4
5
%
1 9
A
1) 1
2) 2
3) 3
4) 4

1[Option ID=39793] Question Description : general_paper_genarel paper_set 29_english_q24
2[Option ID=39794]
3[Option ID=39795]
4[Option ID=39796]

Sl. No.25
QBID:29201025

Introducing a boy, a girl said, "He is the son of the daughter of the father of my uncle". How is the boy related
to the girl ?

. Uncle

. Nephew

. Cousin

. Brother-in-law
(1) 1

(2) 2

(3) 3

(4) 4

TP TSP B UR=TT BN §U TH ASH! 3 Hgl, “T8 NPT P UM DI TN BT 17 ST ASH BT
TASP! & 1Y TN T 2

b =

S

. 3pd

. ST ()
CamE|

. SeTgAal

S




(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=39797] Question Description : general_paper_genarel paper_set 29_english_q25
2[Option ID=39798]

3[Option ID=39799]
4[Option ID=39800]

Sl. No.26
QBID:29201026

"If I were, a heavy smoker, smoking would shorten my life. That's why I do not smoke. And I expect to live a
long and healthy life". Which fallacy is committed in the above argument?

1. Existential fallacy

2. Undistributed middle

3. Affirming the consequent
4. Denying the antecedent
1) 1

(2) 2

(3) 3

(4) 4

«gfe T U SfaIie YHUPdl BIl o1 YU A ZR1 S eT fea gidT | 53 SRu | § T8
éﬂ‘cﬂﬁ‘aﬁ{ﬁw 3R WRIGED Sila- S B SUET @A § " SUdad gfdd & S 91 0% gy

AT RS dF - &Y
. AT B

. haare - [Ay=

. eqar - 9y

1) 1

(2) 2

(3) 3

(4) 4

O

1[Option ID=39801] Question Description : general_paper_genarel paper_set 29_english_q26
2[Option ID=39802]
3[Option ID=39803]
4[Option ID=39804]

Sl. No.27
QBID:29201027

Identify the fallacy committed in the following argument: "My opponent cheated on his taxes. He hired an
illegal migrant as a nanny. His views on tax reforms simply cannot be trusted".

. Inappropriate authority
. Ad hominem

. Appeal to ignorance

. Begging the question

ba =

e Lo

1 1
(2) 2

3) 3

4) 4

frafafad gfdd 5 a - 1Y &1 ugaH it : <R faRiel 1 o= 31 & aR J agqF &1 | 397 Ud 3T
& U H TP 30y FaRi I fHRI0 IR @1 | FR-GURI & aR H 39 faari R faepa faym =51 faar o
ol |

. SO WIYDR

1[Option ID=39805] Question Description : general_paper_genarel paper_set 29_english_q27
2[Option ID=39806]
3[Option ID=39807]
4[Option ID=39808]

Sl. No.28
QBID:29201028




Which of the following statement is logically equivalent to the statement "All tigers are hunting animals"?

. Some hunting animals are tigers.

. No tigers are non-hunting animals,

. No hunting animals are tigers.

. Some hunting animals are not tigers.

[

L

1) 1
(2) 2
(3) 3
(4) 4

frafafaa § Y BH W Y= afde w9 30 HYT F I9ded ¢ - < e ReRi ug e €

1. 99 RoR agamga g |
2. 315 1t a9 R-RIGR A Ian 3 |
3. @i R g e g gIar g |
4. 79 R oy T g 8 € |
1) 1
) 2
(3) 3
(4) 4
1[Option ID=39809] Question Description : general_paper_genarel paper_set 29_english_q28
2[Option ID=39810]

3[Option ID=39811]
4[Option ID=39812]

Sl. No.29
QBID:29201029

Which of the following statements are contradictory to each other?

A. All human beings are mortal.

B. No human beings are mortal.

C. Some human beings are mortal.

D. Some human beings are not mortal.

Choose the most appropriate answer from the options given below:

1. Aand B only
2.B and C only
.Cand D only
.BandD only
(1) 1
2) 2
3) 3
(4) 4

fFofofad ¥ ¥ oH ¥ $Y- RER A g 2

AT AT TREAE |

B. 31S Wi i A3 TR a1 e |
C.POTIITRETS |

D. IS A TR TS sld g |

-4 fau e foe el 5 ¥ Fad SUgad SR P =99 DI :

1. $ad A ARB
2. HFAB AR C
3.%dd C 3R D
4.HadAB AR D

1 1

) 2

3) 3

(4) 4

L

1[Option ID=39813] Question Description : general_paper_genarel paper_set 29_english_q29
2[Option ID=39814]
3[Option ID=39815]
4[Option ID=39816]

Sl. No.30
QBID:29201030




According to Classical Indian school of logic knowledge derived from comparison and which roughly
corresponds to analogy is:

. Arthapatti
Anumana

. Upamana

. Anuplabdhi
(1) 1

(2) 2

(3) 3

(4) 4

YR YA b Hd & STUR a8 I ol a1 9 o0d oldl & SR &l T WERAHH & e
Il &, 98 Peall 6 :

. Syt

A
SUAH

ESERIED

P R

ko =

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=39817] Question Description : general_paper_genarel paper_set 29_english_q30
2[Option ID=39818]

3[Option ID=39819]
4[Option ID=39820]

Sl. No.31
QBID:29201031

The hardware address of a computer network device consists of 48 bits. Which of the following is a valid
address in hexadecimal numbers?

. 00E0OT71944A0
.0A23B5

. 1E07FG124372

. 398ATES412110408
1) 1

(2) 2

(3) 3

(4) 4

?&ﬂ HUICR Hedd gidd & BIOdR UgH H 48 [4eH § | grsgAd Seel & Ual ¥ FMufaRgd ¥ 9 ag ugg a9

B

1. 00E0Q071944A0
2. 0A23B5
3. 1IEO7TFG124372
4. 398ATE9412110408
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=39821] Question Description : general_paper_genarel paper_set 29_english_q31
2[Option ID=39822]

3[Option ID=39823]
4[Option ID=39824]

Sl. No.32
QBID:29201032

The computer uses a bootstrap. Which of the following shows the part of a computer of which the bootstrap is
an example?

. application software
. firmware

. hard disk drive

. IP address

1) 1

(2) 2

3) 3

4) 4

[

e Lia




mgﬁuﬁmﬂm%lﬁaﬁﬁaﬁ%mﬁﬁqmm@mm%w
AR T E ?

1. 3BT TR

2. BHIR

3. TS5 gIgd
4. A G USH

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=39825] Question Description : general_paper_genarel paper_set 29_english_q32

2[Option ID=39826]

3[Option ID=39827]
4[Option ID=39828]

Sl. No.33
QBID:29201033

Given below are two statements:

Statement I: One always uses CD-ROMs to save data.

Statement II : A computer has 2048 MB of RAM. That means computer has 1.2 GB of RAM.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

E A Py UM E:

HYT1: 30U SIE1 DI & (9) B & [T G4a ISR (CD-ROMs) BT WIRT &1 STl & |
BYTIL: TP T DI <H 2048 TH A & | ST S g TP dager @I 125 al § |

QIR B & AT 1, 114 oy e fasedt o 9 98 IR &1 994 S -

LB IR NG TTE |
2. HYTI AR ST 3TTE |
3. YT I 9 R, AP HYT 1 3T R |
4. FUF AT, AP FUT I T © |
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=39829] Question Description : general_paper_genarel paper_set 29_english_q33
2[Option ID=39830]
3[Option ID=39831]
4[Option ID=39832]

Sl. No.34
QBID:29201034

Which file formats are used to store music files?

A. bmp
B. wav
C. mp3
D. htm
E. wma

Choose the correct answer from the options given below :

A, B and D only
.A.DandE only
.B. Cand D only
.B. Cand E only

1) 1

[

e L




) 2
3) 3
(4) 4

Triid WIgdl &l Tfed B o fay Hafeigd 9 &F 4 Bigd B Ugdd fbd Id ¢ 2

A. bmp
B. wav
C. mp3
D. htm
E. wma

i ST U faded | U Tgl 3R &1 994 Hifol :

. PAdA. B3R D
. HAdA. D3R E
.$ad B, C R D
. $ddB.C 3R E
1
(2) 2
3) 3
(4) 4

Y

1[Option ID=39833] Question Description : general_paper_genarel paper_set 29_english_q34
2[Option ID=39834]
3[Option ID=39835]
4[Option ID=39836]

Sl. No.35
QBID:29201035

Match List I with List II

LIST I (Internet s
Term) LIST II (Description)
: - Malicious software installed on a user’s hard drive or a web server; the software re-directs the
A [Spyware L : : ;
5 user to a fake website without their consent or knowledge.
Websites designed to promote the building of online communities who share the same interest;
B. [Phishing II. jusually free of charge; users can add friends, post messages to each other and update personal

profiles.
Legitimate-looking email sent to a user i the hope of gathering personal mformation; as soon

Social networking I

C. i . |las the recipient clicks on the link in email (or email attachment) they are sent to a fake
website.
; - |Software that secretly gathers information by monitoring key presses on a user's kevboard; this|
D. |Pharming V. s : s 2

information is relayed back to person who sent the software originally.

Choose the correct answer from the options given below :

. A-1, B-II, C-III, D-IV
. A-IV, B-II, C-TI1, D-I
. A-IL, B-IV, C-1, D-III
. A-IV, B-III, C-II, D-I
1) 1
() 2
(3) 3
(4) 4

R




il 1 p A1 Gl 11 1 i pifee

[ TG T 1 oy

[Tt e b glo913d U1 dd Hd UX Ay Yitedr 3=e1d (o4 oildl ; Waladl bl

A. ORI L [reafa 41 U @ f931 Ui d R Yaiad] ®1 9 daurge & (e 3: FHE R sl ¢ |
G TR dH SaTg GG & 90 & WeR & 1070 9aaIge TRI<d Bl ol & ; ol
B. [fthfRMT 1L [QHIE: F3ac B1dl 2. 399 Utiadl il &1 oS b 8. Ub-ge o] 4em Uivd &%

w%’aﬁ?&mﬁwﬁmmﬁmﬁmﬂﬁ%

I G Yo U B &1 AR H [hH] aidal &1 Yol T4 09 (8- ard sHd. w19 ot

C. II1. [PTiehd @M&W@$Wmﬁ$mpﬂéwwwﬁﬁm
R [STd € |
iy —s v |7 STREER S 1 ¥4 I JI1ad1 31 PI61S R GaT T 921 P FRA GR1 a1 0T
[l & I a1 34 SA1Gd I A1ud Hel & Sifcll & folg- Here g d YItedar Hofl o |
=i f4u U fde el & 9 Hel ST &1 98- S -
1. A-I, B-II, C-III, D-IV
2. A-IV, B-II, C-11, D-I
3. A-II, B-IV, C-I, D-III
4. A-IV, B-II, C-II, D-I
1) 1
() 2
3) 3
4) a

1[Option ID=39837] Question Description : general_paper_genarel paper_set 29_english_q35
2[Option ID=39838]
3[Option ID=39839]
4[Option ID=39840]

Sl. No.36
QBID:29201036

Solar ponds store solar thermal energy by ?

1. Photovoltaic cells

2. Creating salt gradient

3. Using solar thermal collectors

4. Covering major portion of pond by plastic sheets

(1) 1
) 2
3) 3
(4) 4
IR a9 Hafeiad 5 ¥ 59 & gRIGR adg Sofl B 99d $Ra © 7
1. YT aiee iy O
2. G0 YU §1 T B
3. R a1 GUgd! & YO §RT
4. A & g YT B @D B el T AT=BIed b
11
) 2
3) 3
(4) 4

1[Option ID=39841] Question Description : general_paper_genarel paper_set 29_english_q36
2[Option ID=39842]
3[Option ID=39843]
4[Option ID=39844]

Sl. No.37
QBID:29201037

‘Which of the following are responsible for formation and destruction of ozone (O5) in upper atmosphere?

A. Solar radiation

B. Oxides of nitrogen (NO, )
C. Black Carbon

D. Chlorine (Cl)

E. Ammonia (NH;)

Choose the most appropriate answer from the options given below:

A, Band D only
B, Cand D only
C.D and E only
A, Cand E only

ba =

e Lia

(1) 1




) 2
3) 3
(4) 4

Ul argHsd 1 35 (05) & g a a1 & fog Fafafad § 9 #H-5H Ster & »

A. GR fafeor

B. FISCISH & HEHISS (NOy)
C. &P BIaA

D. FIRM (Cl)

E. 31T (NH;)

-4 faU T fdecdl & 9 9ad ST TR BT 90 DI -

1. $TAA, B AR D
2. HAAB, C AR D
3.%dd C, D ARE
4. PadAA, C IRE

1 1

(2) 2

(3) 3

4) 4

1[Option ID=39845] Question Description : general_paper_genarel paper_set 29_english_q37
2[Option ID=39846]

3[Option ID=39847]
4[Option ID=39848]

Sl. No.38
QBID:29201038

Which of the following are primary aerosols in atmosphere?

A. Sea salt

B. Black carbon

C. Sulphate

D. Nitrate

E. Mineral particles

Choose the most appropriate answer from the options given below:

1. A, Band Conly
2.B,Cand D only
. A, Band E only
.C,D and E only
1) 1
(2) 2
(3) 3
(4) 4

fraffEd 3§ § oH-oF agisa & wufie Wt |

A. I Ul
B. &P Pla-
C. e
D. Ag¢e
E. @& &

19 iU e fasedl & 998 Sugad IR &1 99 Sifeid :

1.Pad A, B IR C
2.%ad B, C AR D
3. PIAA, B3R E
4. $FAC, DIAIRE

1 1

2) 2

@3) 3

(4) 4

e L

1[Option ID=39849] Question Description : general_paper_genarel paper_set 29_english_q38
2[Option ID=39850]
3[Option ID=39851]
4[Option ID=39852]

Sl. No.39
QBID:29201039




Given below are two statements:

Statement [: Dose-response assessment is the process of determining whether or not a particular chemical is causally linked
to particular health effect.

Statement II : Hazard identification is the process of characterizing the relationship between the dose of an toxic agent
received and the incidence of an adverse health effect.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement IT is correct.
1 1
2) 2
3) 3
4) 4

RIEEIEAEACEREE

YT 1 : [l Gg (92N & U ARy Wy gud ¥ SRUTES =0 § §S Bl YdT 7 9 8l &1
[e/R0T SHRaTe HichaT GR1%- Sfhal AHa ¢ |

HYF 11 : SIEH S g5, U fave sifiddl &1 G SR Hfadpd Wied Yu9Ta &1 9e-1 & a6 &
Ty & faRkioxw @ ufearg |

SWRIT HYF & el H, A= [T fdded] H I Had SUgdd STk &1 99+ it =

BRI TRl E |
HYFIAR N SH A & |
HYFITeI g, AT sy nTEd ¢ |
L HYFITEd 8, AfbT FUT I TRl ¢ |

1) 1
(2) 2
3) 3
(4) 4

[

S V)

1[Option ID=39853] Question Description : general_paper_genarel paper_set 29_english_q39
2[Option ID=39854]
3[Option ID=39855]
4[Option ID=39856]

Sl. No.40
QBID:29201040

Lower level of Dissolved Oxygen (DO) in water

A. is bad for human consumption.

B. may have been caused due to presence of oxygen demanding wastes.
C. threatens the fish and aquatic life.

D. cannot be used for irrigation purposes.

E. may cause undesirable taste and odour.

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, Band D only
3.B. Cand E only
4. C. D and E only

1) 1

(2) 2

@3) 3

(4) 4




d # faafia sredter (Do) &1 g wR

A. TG UM & RIT I € |

B. SIS P AT aTel (ARY ®1 IUfRUfd & SR g3 g |
C. I 9 ol Sige & Ui @RI € |

D. RiTs & o vaim et a1 o1 9l ¢ |

E. 3ae-1d WIS 7 7Y 309 I Hal ¢ |

14 feu e o edl & 998 Sugad IR & 997 Sifeig :

1. $AAA, B IR C
2. HAAA, B AR D
3. Pda B, C IRE
4. HIAC, DIARE
1) 1
(2) 2
3) 3
4) 4
1[Option ID=39857] Question Description : general_paper_genarel paper_set 29_english_q40
2[Option ID=39858]

3[Option ID=39859]
4[Option ID=39860]

Sl. No.41
QBID:29201041

The policy of privatization of higher education began during:

1. The first five year plan
2. The third five year plan
3. The sixth five year plan
4. The eighth five year plan

1) 1

(2) 2

(3) 3

(4) 4

T - fran o Fofioso oot Hifa, FHgiferd e deaia gio & SR SRy & It 2

1. 9Yq
SRRl
Bodl
3T3al

v

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=39861] Question Description : general_paper_genarel paper_set 29_english_q41
2[Option ID=39862]

3[Option ID=39863]
4[Option ID=39864]

Sl. No.42
QBID:29201042

Dr. B.R. Ambedkar was associated with the efforts in establishing :

. Milind College

. Aurangabad college
. Maha Bodhi college
. Nagpur college

1) 1

(2) 2

(3) 3

(4) 4

TSI &1 3R, sfaeHx, Fafiied ¥ ¥ foge! RIdH a3 & e 4 9as 4 2

1. fafer< oiau
2. JIEE Biesl
3. HEEIY Bl
4. TR Pl

1) 1

(2) 2

(3) 3

B




(4) 4

1[Option ID=39865] Question Description : general_paper_genarel paper_set 29_english_q42
2[Option ID=39866]
3[Option ID=39867]
4[Option ID=39868]

Sl. No.43
QBID:29201043

Given below are two statements :

Statement I: Constitution allows both central government and state governments to enact laws for the higher education
system in India.

Statement IT : More than 75% of colleges in the field of higher education are in private sector (government aided and
unaided).

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1 1

(2) 2

3) 3

(4) 4

RIECIE AR ACtREE

?:F?-I%] : AU &5 PR g Tog PRI ST DI YRd H 3= e e fofvai & sifufam ot srgafd

gdrg |

gﬂﬂn : 3 R1a @ &3 T 75% 9 e neiidaney Holl &3 (SReR! erd Ut d fa-1 Jeradr &) o
|

I HYH & ATeD , - U U fdsbedi © U Ug! 3 &1 90 Piford =

HYTI AR NSHIIAE |

L HYTI AR M SH HTTE |

HYTI GO, AP YT I 3T © |
YT A, AT U I I
(1) 1

(2) 2

(3) 3

) 4

[
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1[Option ID=39869] Question Description : general_paper_genarel paper_set 29_english_q43
2[Option ID=39870]
3[Option ID=39871]
4[Option ID=39872]

Sl. No.44
QBID:29201044

Given below are two statements :

Statement I: The purpose of higher education is to promote critical and creative thinking abilities among students.
Statement II : Deemed Universities can design their own syllabus and course work but cannot grant degrees.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

3) 3

4) 4




TR gmyEfeume:

HYF 1 : 3 g1 31 35 faenfifai & &= geftenae @ gomas fGaR draarsi &1 9atH @ s |
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HYFIAR NG T E |
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Given below are two statements :

Statement I: The All India Council of Technical Education (AICTE) was established in 1956 in order to ensure planned and
coordinated development of technical education in India.

Statement II : Technical Education was defined as programmes of education in engineering, technology. architecture, town
planning, management, pharmacy and applied arts and crafts.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

(1) 1

2) 2

(3) 3

(4) 4
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(1) 1

2) 2

(3) 3

(4) 4
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Read the following passage and answer the question:

Social media platforms have significant advantage over news publishers because of their size and superior
information about users. Driven by the need to generate the maximum possible returns for investors, they do
not shy away from leveraging this advantage when negotiating commercial agreements.

While news publishers in many countries come together as a consortium to further their collective interests,
the rivalry among news publishers prevents them from presenting a united front to bargain for their collective
interests. As a result, in individual negotiations with social media platforms, the revenue share, if they ever get
any, is trivial compared to the total money made by social media platforms.

Local news publishers, often very small, suffer disproportionately. to the extent that many have gone bankrupt
in the last few years. Those who have survived have become more content-producing vendors. They exist to
feed the social media monster, which decides which article will appear in which readers feed to maximize
advertising revenues. Journalistic responsibility to provide citizens with the information they need to make
important decisions about their lives, communities and governments is seldom a consideration.
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Given below are two statements :

Statement I: News publishers have better information about their users as compared to social media platforms.
Statement II : Social media platforms are generally very particular in presenting correct information to the citizens.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1 1

(2) 2

3) 3

(4) 4
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Read the following passage and answer the question:

Social media platforms have significant advantage over news publishers because of their size and superior
information about users. Driven by the need to generate the maximum possible returns for investors, they do
not shy away from leveraging this advantage when negotiating commercial agreements.

While news publishers in many countries come together as a consortium to further their collective interests,
the rivalry among news publishers prevents them from presenting a united front to bargain for their collective
interests. As a result, in individual negotiations with social media platforms, the revenue share, if they ever get
any, is trivial compared to the total money made by social media platforms.

Local news publishers, often very small, suffer disproportionately. to the extent that many have gone bankrupt
in the last few years. Those who have survived have become more content-producing vendors. They exist to
feed the social media monster, which decides which article will appear in which readers feed to maximize
advertising revenues. Journalistic responsibility to provide citizens with the information they need to make
important decisions about their lives, communities and governments is seldom a consideration.
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Identify the correct statements from those given below:

A. Social media platforms have impacted the local news publishers adversely.

B. Social media platforms make much more money as compared to individual news publishers.

C. News publishers are better placed than social media platforms because of their size and information they
have about the users.

Choose the correct answer from the options given below:

. Aand B only
.Band C only
. Aand C only
A Band C

1) 1
2) 2
3) 3
4) 4
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Read the following passage and answer the question:

Social media platforms have significant advantage over news publishers because of their size and superior
information about users. Driven by the need to generate the maximum possible returns for investors, they do
not shy away from leveraging this advantage when negotiating commercial agreements.

While news publishers in many countries come together as a consortium to further their collective interests,
the rivalry among news publishers prevents them from presenting a united front to bargain for their collective
interests. As a result, in individual negotiations with social media platforms, the revenue share, if they ever get
any, is trivial compared to the total money made by social media platforms.

Local news publishers, often very small, suffer disproportionately. to the extent that many have gone bankrupt
in the last few years. Those who have survived have become more content-producing vendors. They exist to
feed the social media monster, which decides which article will appear in which readers feed to maximize
advertising revenues. Journalistic responsibility to provide citizens with the information they need to make
important decizions about their lives, communities and governments iz seldom a consideration.
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Correct information is needed by the citizens to make important decisions about their

. communities

. lives

. governments

. newspaper vendors

Onwe

Choose the correct answer from the options given below:

A, B and C only
B. Cand D only
A, Cand D only
LA B, CandD

1 1
(2) 2
3) 3
4) 4
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Read the following passage and answer the question:

Social media platforms have significant advantage over news publishers because of their size and superior
information about users. Driven by the need to generate the maximum possible returns for investors, they do
not shy away from leveraging this advantage when negotiating commercial agreements.

While news publishers in many countries come together as a consortium to further their collective interests,
the rivalry among news publishers prevents them from presenting a united front to bargain for their collective
interests. As a result, in individual negotiations with social media platforms, the revenue share, if they ever get
any, is trivial compared to the total money made by social media platforms.

Local news publishers, often very small, suffer disproportionately. to the extent that many have gone bankrupt
in the last few years. Those who have survived have become more content-producing vendors. They exist to
feed the social media monster, which decides which article will appear in which readers feed to maximize
advertising revenues. Journalistic responsibility to provide citizens with the information they need to make
important decizions about their lives, communities and governments iz seldom a consideration.
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Given below are two statements :

Statement I: There is rivalry among news publishers.
Statement II : Many social media platforms have gone bankrupt.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

3) 3

(4) 4
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Read the following passage and answer the question:

Social media platforms have significant advantage over news publishers because of their size and superior
information about users. Driven by the need to generate the maximum possible returns for investors, they do
not shy away from leveraging this advantage when negotiating commercial agreements.

While news publishers in many countries come together as a consortium to further their collective interests,
the rivalry among news publishers prevents them from presenting a united front to bargain for their collective
interests. As a result, in individual negotiations with social media platforms, the revenue share, if they ever get
any, is trivial compared to the total money made by social media platforms.

Local news publishers, often very small, suffer disproportionately. to the extent that many have gone bankrupt
in the last few years. Those who have survived have become more content-producing vendors. They exist to
feed the social media monster, which decides which article will appear in which readers feed to maximize
advertising revenues. Journalistic responsibility to provide citizens with the information they need to make
important decizions about their lives, communities and governments iz seldom a consideration.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Social media platforms are able to control the type of content that will appear in a reader's feed.
Reason R : They do so because they are quite concerned about individual likes and dislikes of users.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. Ais correct but R is not correct.
4. Ais not correct but R is correct.
1) 1
(2) 2
(3) 3
(4) 4
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